
z

wDG\
X Z
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Weyl
=

2w − z\ z − wE2ν
w

z
γ

ζ
DG\
XZ

=
γz + (1 − γ) ζ\ z − ζ

νE
1 − γ

ζ

zE−ν
w

z
α

ξ
DG

β

ηDGEν
w

X Z

=
ξ|η|z

ν
E

α − 1 (1 − α) (1 − β) (1 − α) β
0 β − 1 1 − β

1 − α α (1 − β) αβ − 1
ξ|η|w

LHS =
zE−ν

w

αz + (1 − α) ξ
β

ηDGEν
w

X Z

z − ξ
νE

1 − α

ξ

=
zE−ν

w
β (αz + (1 − α) ξ) + (1 − β) ηEν

w
αz + (1 − α) ξ − η

νE
1 − β
η

z − ξ
νE

1 − α

ξ
= RHS

P = a + b + c + d + (1− γ) /2

zE−ν
w

(
2ν

π

)d
Cd∫

dζ

ξ|η|ζ

2ν
E

−a −b a + b
−c −d c + d

a + c b + d −a − b − c − d
ξ|η|ζ

z
γ

ζ
DG

Eν
w

X Z

= P
−d ξ|η|z

2ν/P
E

bc − ad − a (1 − γ) /2 ad − bc − b (1 − γ) /2 (a + b) (1 − γ) /2
ad − bc − c (1 − γ) /2 bc − ad − d (1 − γ) /2 (c + d) (1 − γ) /2

(a + c) (1 − γ) /2 (b + d) (1 − γ) /2 (a + b + c + d) (γ − 1) /2
ξ|η|w

LHS =

(
2ν

π

)d
Cd∫

dζ

ξ|η|ζ

2ν
E

−a −b a + b
−c −d c + d

a + c b + d −a − b − c − d
ξ|η|ζ

γz + (1 − γ) ζEν
w

z − ζ
νE

1 − γ

ζ

=
z
νE

γ − 1
w

ξ|η

−2ν
E
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c d

ξ|η

(
2ν

π
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Cd∫

dζ

ζ

2νE
−P

ζ

−
ξ |−η |−w

2ν
E

a + c
b + d

(1 − γ) /2
−
ζ

ξ|η|z

2ν
E

a + b
c + d

(1 − γ) /2
ζ

Gauss=
z
νE

γ − 1
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ξ|η
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E

a b
c d

ξ|η
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−d ξ|η|z

2ν/P
E

a + b
c + d

(1 − γ) /2
a + c b + d (1 − γ) /2

ξ|η|w

= P
−d ξ|η|z

2ν/P
E

(a + b) (a + c) − aP (a + b) (b + d) − bP (a + b) (1 − γ) /2
(c + d) (a + c) − cP (c + d) (b + d) − dP (c + d) (1 − γ) /2

(a + c) (1 − γ) /2 (b + d) (1 − γ) /2 (1 − γ)
2
/4 + P (γ − 1) /2

ξ|η|w
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α

ξ
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β

ηDG =

(
ν(1− γ)

2

π (αβ − γ)

)d Cd∫
dζ

ξ|η|ζ

2ν
E

−a −b a + b
−c −d c + d

a + c b + d −a − b − c − d
ξ|η|ζ

γ

ζ
DG

4 (αβ − γ)

1− γ
(ad− bc) = (1− α) (1− β)

2 (αβ − γ)
a b
c d

=
(1− α) (β − γ) (1− α) (1− β) γ
(1− α) (1− β) (α− γ) (1− β)

2 (αβ − γ)

1− γ
P =

2 (αβ − γ)

1− γ
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a + b + c + d +

1− γ

2
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= 1− γ

�

4 (αβ − γ)

1− γ

bc− ad− a
1− γ

2
ad− bc− b

1− γ

2

ad− bc− c
1− γ

2
bc− ad− d

1− γ

2

=

= 1 − γ

4 (αβ − γ)

1− γ

P

2︸ ︷︷ ︸
α− 1 (1− α) (1− β)

0 β − 1
�

bc− ad− a
1− γ
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ad− bc− b

1− γ
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(a + b)

1− γ

2

ad− bc− c
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bc− ad− d

1− γ
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1− γ

2

(a + c)
1− γ
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(b + d)

1− γ
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(a + b + c + d) (γ − 1) /2

=
P

2

α− 1 (1− α) (1− β) (1− α) β
0 β − 1 1− β

1− α α (1− β) αβ − 1

� P
d z

LHS = P
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=
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1bα
yDG\
X Z
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x

xE−2ν
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y

yE−να
y

zE2ν
x

xE−2ν
x

z(
xDG

1bα
yDGEν

z
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=
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yDG\
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y
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x
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x
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z
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y
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x
xE−2ν
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tr xDG
1bα
yDG = 2− α

X Z−d x − yE2 − να/ (2 − α)

x − y
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dz/πd

zE−ν
z

z(
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x
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z
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y
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x
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y
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x
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x
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x
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y
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y

=
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y
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x
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z

wDG\
X Z
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−
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0

wDGK0

X Z
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0

wDG1
X Z
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−
we

fund fct wb =
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wDGK0

X Z
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wDG1
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−
we



z
1bα
wDG\
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=
zEνα

w
wE−να

w
(1 − α) z + αw\

s1 − α
0 z = (1− α) z

s1 − α
w z = s1 − α

gw0 z = g
w

1bαs 0 g−1
w

z = w + (1− α) (z − w) = (1− α) z + αw

z

t
ν
w\
XZ

=
z + w\ zE−ν

w
wE−ν/2

w

−α (γ − β) −αβ (1− γ) α (1− β) γ
−αβ − (γ − α) β βγ
αγ (1− α) βγ − (α + β − αβ) γ

 zul

Cd∫
dζ

E
ν

(αβ + γ − α − β)
[
ξ η ζ

] −α (γ − β) −αβ (1− γ) α (1− β) γ
−αβ − (γ − α) β βγ
αγ (1− α) βγ − (α + β − αβ) γ



−
ξ
−
η
−
ζ





1 − α

ν
ξ
DG

1 − β

ν
ηDG
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=

−ν/ (αβ + γ − α − β)

ξEα (γ − β)

ξ

ηEβ (γ − α)
η

ξEαβ (1 − γ)
η

ηEαβ

ξ

X Z
Cd∫

dζ

ν/ (αβ + γ − α − β)

ζE−γ (α + β − αβ)

ζ

ζEγ
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αξ +

(
1 − −

α
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βη

α (1 − β) ξ + βηEγ

ζ

X Z 1 − γ

ν
ζ
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Cd∫
dζ

ν
ζE−γ (α + β − αβ)

ζ

ζEγ

−
αξ +

(
1 − −

α
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βη

α (1 − β) ξ + βηEγ

ζ

X Z

z
1 − γ
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ζ
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=

Cd∫
dζ

ζE−νγ (α + β − αβ)

ζ

ζEνγ

−
αξ +

(
1 − −

α
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βη

α (1 − β) ξ + βηEνγ

ζ
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ζ

ζE−ν (αβ + γ − α − β) γ

ζ

(1 − γ) z + γζ\

=

Cd∫
dζ

ζE−νγ2

ζ

ζEνγ

−
αξ +

(
1 − −

α
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βη

(α (1 − β) ξ + βη + (αβ + γ − α − β) z) /γEνγ2

ζ
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−
αξ +

(
1 − −

α
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βη
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ξEα (γ − β)

ξ
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η
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ξ
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η
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ξ
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ξ
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η
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=

ν
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ξ
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η

ξEαβ (1 − γ)
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ξ
DG

1 − β

ν (αβ + γ − α − β)
ηDG \

X Z

µν
z

=
d
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=
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